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Question Number : 1 Question Id : 4387198321 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Perithecium is characterized by

205%hako |80b upiud hodid
Options :
Un opened globose fruiting body

soplold Ord (LolB8 Poudrolian
1. %

Flask shaped fruiting body without opening

Srervmrd Swpdold OPrE fadrolisn
2. ®

Flask shaped fruiting body with apical opening

Lol Swploll HEPE Pomrolisi
3. %
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4.

Cup shaped fruiting body

RO %ﬁj@ BD0AR pomroling

Question Number : 2 Question Id : 4387198322 Display Question Number
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pyrenoids are

2ETroy wame

Options :

2. ¢

3.

Food storage bodies in Rhodophyceae

Silan P & witto aer SEE TETED
et L

Food storage bodies in Chlorophvceae

2f5f 28 &8 wtto Qey F0FE oo
(gl o L=

Food storage bodies in Phaeophyceae

S

0 &° wilfo oy TRFE VoEre

Food storage bodies in Cyanophyceae

&° wdo Ner TSV EI QoD

: Yes Is Question Mandatory : No Calculator : None Response
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Question Number : 3 Question Id : 4387198323 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Roval Botanical Garden is located at

TahS eSS ﬁ'@ﬁ ————————— &° ﬁ;&aﬁa&éﬁh

Options :
Lucknow

=iy
L=

England

SteTyylatal

America

SR eh=

New Delhi

2

L':‘zﬂ

&0

Question Number : 4 Question Id : 4387198324 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Juvenile stage in Mosses 15 called as

4/140



7/12/22, 8:43 PM
Options :

Gametophore

e S

[aa]

1. ®
Protonema

BEHSo%D
2.

Gemima

BEairm

e

Paraphysis

rardodEae

Question Number : S Question Id : 4387198325 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Roots with negative geotropism for the purpose of oxvgen is found in the following

w&=S Trotio ko IbheyhIgTNs 58dtom BEN I $OAKE

Options :

5/140



7/12/22, 8:43 PM

Pillar roots

)

nogronod rufed)

1. #

Stilt roots

&858 3 V)
2. %

Pneumatophores

E‘ﬁ%aé 2% (% Srorer)
3.9

Velamen roots

205 A%

Question Number : 6 Question Id : 4387198326 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose mncorrect statement

o i A AR . 1 ety
SO B0 win
o s

I

Dol G

L

Options :

Hypanthodium of ficus has urregularly arranged flowers

%

250 ang) ThcFhaho JHnTpNand Y L8 ENiod” sls soki
1. ®

6/140



7/12/22, 8:43 PM

Head inflorescence of sunflowers has centrifugally arranged flowers

SrdrTos @nY) G958 YhoTiind Y ToFsvdonr et wodron

P % i

Racemose inflorescence of crotalaria has 1ts flowers arranged in acropetal order

e s Fied

o v‘

SeToaT Bws LFPvs YLuTysind

fjl’

&u0s otlron

|:v

3. ¢

Cymose of Jasmin has basipetally arranged flowers.

-

ST g A6E 99 wTpsod Jehe sFTOPE Flosnd® &sd solron

Question Number : 7 Question Id : 4387198327 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Select the incorrect pair

el 28 o

Options :
Solitary ¢cyme — Hibiscus

wsrod Qo -
1. ®

Dichasial cyme — Ipomea

ByTadh Sd¥o - oBfliad
2.9
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Monochasial cyme — Hamelia

LETHAH DeEo - LI

3. %
Polychasial cyme — Nerium
£, g I
QIF0TCL Wdvdo - wldlo
4. %

Question Number : 8 Question Id : 4387198328 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the plants having Apocarpous and syncarpous ovary respectively
woding Sobcin eloding Sedver FORS Juf ol SBAT Hloldn

Options :
Hibiscus. papaver

= =
TR R, S0

Hibiscus. Annona

= P

P B
TS S, a3

Annona. Michelia

edT, 2hdasr
3.¢
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Papaver. Michelia

e B
&;‘10.?0. el

4, %

Question Number : 9 Question Id : 4387198329 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
Number of cells in the Angiosperm pollen grains at the time of release

s

esiddie Sotitew

al

Options :
2 cells

2 deren
1. ¢

3 cells

3;‘1"’%

1 cell

1 geres

4 cells

4 geren

wide 350hof wothd e Sowe
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Question Number : 10 Question Id : 4387198330 Display Question Number

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Double fertilization is

&raedidn sam

Options :

4. ¢

Fusion of two male gametes with an egg cell

Do JHS So@rd derer af & dafnod Sod@ric Bodko

Fusion of one male gamete with an egg cell and other with synergids

a8 Hon So@rl Dao & dufnod, Dodssd SSokinod So@THo Bodko

Fusion of one male gamete with egg cell and other with antipodals

&l Gon Sodridec (& Hefnod, Todds PerSE Fnod So@ric Bodko

Fusion of one male gamete with egg cell and the second with central cell

a¥ HHhE Sodridec & Hafnod, Dodsd Sold fnod Soarto Bodso

: Yes Is Question Mandatory : No Calculator : None Response

Question Number : 11 Question Id : 4387198331 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

10/140



7/12/22, 8:43 PM

Statement 1 : Artificial system of classifications were incomplete and fragmentary
Statement 2 : Artificial system of classifications always show interrelationships

among the group of plants.
EF%::} 1: %ﬁ,[g‘."aaﬁ} 5?%&&; éﬁ:—g&u @E&oé_j*go soddio poliares
50 2 : )8 5§§ﬁﬂ SRR Quinir dnfo S5 8000 Loworred i,
Options :
Statement 1 and statement 2 are true.

aﬂéé;a 1 Sbdiy a?ééo 2 &ééch

1. ®
Statement 1 1s false. statement 2 1s trme.
50 1 eldo, 5o 2 NEo.
2. %
Both statements are false.
cots TSR fs:f;éego.
3. %
Statement 1 1s true and statement 2 1s false.
v F%D 1 ”p’:féé:ro SoBdio E:DE&L:D 2 @F&éée
4,

Question Number : 12 Question Id : 4387198332 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Statement 1 : Plasmid DNA is circular

Statement 2 : Plasmid possess single stranded DNA without polarity.
e 1: s DNA fHzsde

o 2 1 Pkl Hfed OO o8 PibKe DNA & 59t

Options :
Statement 1 1s true and statement 2 1s false.

5o 1 o Dbcin TEo 2 sido

Statement 2 is true and statement 1 1s false.

5o 2 Héio Doddin g 1 e

Both statements are false.

Botir EN= Y Hﬁéﬁﬁ'ﬂ

Both statements are true.

Sotsr Fég&i: ﬁégp

Question Number : 13 Question Id : 4387198333 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arachidonic acid 1s with highest number of carbon atoms. because

STLE LE @3‘.#;055 @%ﬁé ?’:-o;:,-éﬁs BRN0NrEde) GodlPan, wotiiSihne.

Options :
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It contains 18 carbons in the *R’ group

‘RGsrdrod® 18 8gdined 5950tk

1. %
It contains 15 carbons in the ‘R’ group.
. ‘R&srsrod® 15 Sdsned 5990k,
2.
It contains 19 carbons in the ‘R’ group
‘Résrsrod® 19 Shdsnod 05055,
3.¢ n ?
It contains 20 carbons mn the ‘R’ group
‘RGsursirod® 20 S6Ssned 5990k,
4, %

Question Number : 14 Question Id : 4387198334 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Tvpe of Glycosidic bonds in cellulose and starch respectively

Doyt wede s Shm Hot G5 RES vogry vw

iy

Options :
f-1-4. f -1-6 and «-1-4. «-1-6 glycosidic bonds

B -1-4. f -1-6 &:6c%s «-1-4. %-1-6 TS %aS woprws
1. ®
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£ -1-4 and o¢-1-4 glycosidic bonds only

. B -1-4 Secis x-1-4 [5°285 nopren SrFab
2. =

f-1-6 and o¢-1-4. o-1-6 glycosidic bonds

, B -1-6 Secis o-1-4. x-1-6 05°2a5 zogren
3.

f-1-4, o-1-4 and &-1-6 glycosidic bonds
B -1-4, o-1-4 S8cks o-1-6 5FRES wopres

4. v

Question Number : 15 Question Id : 4387198335 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cells in the Go stage during cell cycle

¥eonefess Ssudbod® Go S46%0 Soren
Options :

Neither Proliferate nor metabolically active

D8 e, €358 HhSHnr dodt,
1. ®

Metabolically inactive but no longer proliferate

251805 DB aolith wand JEETee Jidn el
2. %
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Can proliferate if metabolism called on to do so

£330 sB8cSS Difn a%ibd
3.¢

Cannot proliferate even metabolism called on to do so

2585 =B8005588 Db =i,

—a

4. %

Question Number : 16 Question Id : 4387198336 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Find the correct combination

A

I.Collenchyma

II.Sclerenchyma

1. Xylem vessel

IV. Parenchyma

5B% Soons HBowHsn

1 ﬁa:_a:‘@ﬂ‘eédﬁa Seeeo

A

IL. &% Seeroo

IIl. ztm¥o

V. écg.ci:l gae0

Options :

1. ®

2.9

L. LI IV

II. IV

B €
Cellulose. Hemicellulose Aerial parts of dicots and
and pectin monocots
Lignin Mechanical support
Multicellular dead cells Transports only water

m longitudinal/vertical series muinerals and provide
mechanical support

Storage of air in Hydrophytes Helps i exchange of
gases and buoyancy

B C

6T, TUDeRS’D Dodin B Hdak RESEDerest
&5 ZPafoifd rmres
e drol&Bneo

Sarod [ens SEHed St H89, odoroi Fetetatald Flasversy

wiuSncing Dyssurw Hobdin diro|SE werd) ééﬁﬁ:&m
éﬁﬁnﬁ@ﬁ@s FVil s TPt ) aPgin o"fmﬁ;_& S6ak Budo
ma@i:mm
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II. II1. IV
3. %

)1l '
4. %

Question Number : 17 Question Id : 4387198337 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Conjoint. collateral. closed vascular bundles present in
I.Monocot stem

II. Dicot leaf

ITI. Monocot leaf

IV. Roots
SleleniviH e‘&:ﬁna‘:%, r&orfgﬁ TETEdoeTen aothad

B 288¢ De seolfo
11 Bngief Se oo
I S88¢ De Sigo
IV. 3%
Options :
LI I
1.«
LAY
2. %
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4. %

I only

IL. IIT only

I, 1T s

Question Number : 18 Question Id : 4387198338 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The organic food material 1s translocated through phloem in the stems of following

Dolfiadh e oY Sarer 8538 Smeroo TR 287 (206 odis ool

Options :

3.¢

Dicot stem with conjoint. Collateral. Closed Vascular bundles

Sodiny, “rardy, GoRE, TETHore iy Sntieft)es Trolio

Momnocots Stems with vascular bundles

A

Fiorfosres o 888 Ds oo

Dicot stems with conjoint. collateral. opened vascular bundles

odios, éaﬁ%‘?ﬂ%. AanETreTroser SOAR t":‘a;:éé’a?l‘ra =ilolats
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Dicot stem with bicollateral vascular bundles

E}ﬁqﬁaﬁ?ﬁ?% Tisryosres o &gﬁﬁéﬁ oo

4, %

Question Number : 19 Question Id : 4387198339 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Statement 1 : Well aerating tissue aerenchyma 1s the most important anatomical
feature of all hvdrophytes.

Statement 2 : Hydrophytes live in well aerated environment

=50 1! oy E:—.:ég_&é% Tralusred Spthlnerec Dol &8 Jupd woslTyn vBBc

5o 2 raleird Vit atastet ol 5&33}3%@@ TN

Options :
Statement 1 is true. statement 2 is false

- Fééa 1 Ef:ééo. «:TF%G & @‘55550

Statement 1 and statement 2 are true

;,rngéa 1 58cim ojnéécl 2 ?C‘.éat:a

Statement 1 and statement 2 are false

- E%ﬁ 1 S58diw a?‘é:gc 2 @-‘éég}

Statement 1 is talse. statement 2 1s true

. TS 1 endo, 5o 2 Sdo
4, =
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Question Number : 20 Question Id : 4387198340 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The percentage of wild life regulatory service 1s

Options :
12%

Question Number : 21 Question Id : 4387198341 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a plant the stomata opens due to

w8 2E).S° Farer (DBdogo) B TG0 BAELILLOE

Options :
Influx of H+ ions

H+ e9aire° 09 paoriro

1. %
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Efflux of K+ ions

. Kt oairg wobensire

Influx of K+ ions

|, K+ ooird Sobooire
3. -

Influx of Fe+ 1ons

Fe+ 090378 590 0

oy

4, %

Question Number : 22 Question Id : 4387198342 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cyclic photophosphorylation results in the formation of

B30T oS\ BTHRD D6 GerS BSBRV0S

Options :
ATP and NADPH
1. %

NADPH

ATP. NADPH. O,

ATP
4. ¢
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Question Number : 23 Question Id : 4387198343 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which product 1s commonly seen in both aerobic and anaerobic respiration ?
TOED R SOOI TGS FLRSONToCE” &) EB1D) 0 SIS ?
Options :
Pyruvic acid

2DE0DSE esve
1.¥ = -

Malic acid

55798 esv0

Citric acid

S B0

Succinic acid

'ﬁbéﬁ“}ag 'E’ja';}j.'}e

Question Number : 24 Question Id : 4387198344 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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1s used as green manure

‘!".35}‘) DG &DOIr Rotierciaddiod

Options :
Crotalaria juncea

SN S elanby 22\ Os

Azolla

ead e
2. % -

Azardiracta indica

2P0 olis
3. % -

Hevea brassiliansis

odr erodoHIND
4. %

Question Number : 25 Question Id : 4387198345 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Enzymes are functional at temperature in human body

QoFZIew AAD 36005 &X0S 5D §03rSodorr DIBI 0N
Options :

| I
1. ®

2T
2.¢

37

Question Number : 26 Question Id : 4387198346 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the derivative of carotenoids

ST AT oNE y B, &) 0l DBotded

Options :
Gibberellic acid

aﬁaﬁﬁﬁé e300
1. % -

Indole butyric acid

ol eS 20{808 es00
0. : -
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Indole-3-acetic acid

R0l e5-3-D0E5 o

Abscisic acid

e::e‘.'}sfaé £200
4. -

Question Number : 27 Question Id : 4387198347 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The maximum growth rate 1s seen in phase

(BQ 5y Sew 335" 8D

Options :
Lag phase

% erf &%

Exponential phase

S STToS OF

2
Stationary phase
N QIO OF
Senescence phase
L mg%aa
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Question Number : 28 Question Id : 4387198348 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Microbes growing in salty areas are known as
GOV ol Toory” OB ArE) BV £90LT°C0
Options :

Halophiles

7@956:3?5\,
1.¢ =

Thermophiles

ﬂﬁgéiﬁﬁg

Acidophiles

LRI N

Psychrophiles

28 33953

Question Number : 29 Question Id : 4387198349 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Identify the phage that attacks a host cell but do not destroy it immediately

LSBOL S630 TE BD DotD I TEIBAD FED Wdotied

Options :
Virulent phage

4 lab1 3] aéj;}

Mycophage

g} hﬁ;:}ﬁ

Temperate phage

- €006 DB

Zoophage

DR

Question Number : 30 Question Id : 4387198350 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the disorder caused by trisomy of sex chromosomes
Sofs §ar& A BODVEE DS HY VGYE DIDBRO HE) Dot ?

Options :
Klinefelter’'s syndrome
33006 Dol oo

1. =
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Edward’s syndrome

DS ol

Down'’s syndrome

N iﬂc@f&)

Turner’s syndrome

Slepe Dol o

Question Number : 31 Question Id : 4387198351 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mutations can be induced with

B &8I0 DB0BeIETTaN

Options :
Ethylene

| % 2dOD

Gamma radiations

AT SOETew
2.9
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Infrared radiations

QT 06 SoETen
3.8 TR

TAA
4 x IAA

Question Number : 32 Question Id : 4387198352 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

During Replication the discontinuously synthesized fragments are known as

BEHS Hotomn VlosTdhom S (Ho3hH Foil) Horoil s wolrl,

Options :
Okazaki fragments

.58 (grol
1. )

DNA Strands

o0 Bhden

o

Proteins

‘fja
L

E} =

3. %
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Amino acids

Question Number : 33 Question Id : 4387198353 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

RNA 15 the Genetic material in

808 0&° ©6uLll =iy Sogsom Sub

Options :

Adeno virus

oy -\.ﬂ
| % oGF S88

Tobacco Mosaic Virus (TMV)

o

&

S Zrerons F60 (Hch&D)
2.¢

Pox virus

38 B

Feu

Herpes virus

Question Number : 34 Question Id : 4387198354 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Time : N.A Think Time : N.A Minimum Instruction Time : 0

Two enzymes responsible for restricting the growth of bacteriophage were isolated
from

PIOErTE DHIDTUDH Dabo|dn Do BoH JoBHuD 8 Dol Ik Hon?

Options :

Salmonella

ﬁ""éﬁéﬁl@

Agro bacterium

@i ergete

Escherichia Coli

. :
2% bhcir S8
3. =

Archea bacteria

=g zﬁ“éﬁcﬁi}

Question Number : 35 Question Id : 4387198355 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Restriction enzyme Digestion means

OH5ES YoES BREN eRr

Options :
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Cutting of DNA

BaHSe % $88osko

Repair of DNA

Eahan % 6 0% ddkdo

Incubating of DNA

3 % Sdbaa 0 E.G‘iiéééf wahto

Enzymes digestion of DNA

BabSa S0 JoESed é?ﬁoﬁ:é&

Question Number : 36 Question Id : 4387198356 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘T1” plasmid of which bacterium is used for obtaining Transgenic plants.
5 oS8

2 erg0cho ) Ti phEs a¥@rhcd el wSed I Sirh Trk?

Options :
Pseudomonas

% TS
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Xanthomonas

. oS AR
2.

Agrobacterium tumifaciens

sierisako exng o DRGRT,
3. ¢

Salmonella

e Rer
S LN

Question Number : 37 Question Id : 4387198357 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A plant having altered Gene from a different species called

28 eSS Nowololi eldois Sl is e vond JWER S E0oLTE?

Options :
Reacting plant

Cairgoh apesd
1. ® i

Money plant
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Transgenic plant

Er5EDE Pl
3. ¢

Jeans plant

£5, apods
4. %

Question Number : 38 Question Id : 4387198358 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Parbhani Kranti® wild variety obtained showing resistance to Yellow mosaic virus in

a

& (BoB DHot:d’ BOENE) (P58 (ol ud $5 o @& Twerant FET 5B 6% VE7HES EOR eotnod

T

[l

Options :
Cucumber

Shond

Bhindi (Abelmoschus esculentus)

Bots
2. ¢

Bitter guard

S0 Pah
3. %
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Bottle guard

4Q@Edsﬁcﬁ3

Question Number : 39 Question Id : 4387198359 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Brassica’ variety * Pusa Swarnim’ has resistance to the disease

{ePhs" 8o ‘Trdr LB’ & T30 B BHENEES S

White rust

v =
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Question Number : 40 Question Id : 4387198360 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

The bacteria that converts nulk to curd
Poih BIb M ety erSukr

Options :

Propionibacterinm sharmanii

BB Er orE0abo SOl

Lactic Acid Bacteria (LAB)

e85 wbE wrisdde
2.4 F i

Pseudomonas

]

S E ArTR
3. %

Nanthomonas

sEal =
oS arTh

Section Id :
Section Number :
Mandatory or Optional :

Zoology

438719175
2
Mandatory

36/140



7/12/22, 8:43 PM

Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 41 Question Id : 4387198361 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following groups constitutes eucoelomates?

& 308 TOS° 03NS DT e T Dz 2SS LHHen DD?

Options :

Acoelomates & Pseudocoelomates

D5He5" 20t & P& Autr

Schizocoelomates & Pseudocoelomates

2E DS WEr & ArEad o

Schizocoelomates & enterocoelomates

0B 20 DT & Dol e oer

Enterocoelomates & Pseudocoelomates

Dot e A0t & et Doer

Question Number : 42 Question Id : 4387198362 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following set of compounds constitutes vasodilators?

& 2ot 28 Q) TS D 68 T°¥ IF BT 1 DIBI"O0?

Options :
Heparin and histamine

TIBD B3V ?Jﬂ‘fgﬁb&

Heparin and serotonin

0D SO0 VOIS

Serotonin and bradykinin

. DO’ DD HBoIw erdEDD

Histamine and bradykinin

. SRS H0Bain erdsED
4. i {4 ]

Question Number : 43 Question Id : 4387198363 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Assertion (A): Granulocytes are called polymorph — nuclear leucocytes

Reason (R): Nucleus of granulocytes is divided into many lobes and assumes
different shapes

TG (A): SE35™3 SETORD WITVOETD SoBs BY 0F SETLD 8 JDIFOIF D

T=Cet0 (R): 683573 Srre SodSo L0 BT TS Gotod.

Options :

Both A and R are correct and R 1s the correct explanation of A

A 208030 R Toth 2BAD £S080w R 29008 A £ A8 D566
1.¢

Both A and R are correct and 1 1s not the correct explanation of A

A 208030 R Bocd M58 570 R 93008 A S0 28R D508 5760

A 1s correct but r 1s wrong

, ARD08 5D R 2THG 6
3.

A 1s wrong but R 1s correct

A 2038 5260 5D R 0098

Question Number : 44 Question Id : 4387198364 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which tissue provides thermal insulation?
&1 S0 T &N DE 8o HABD Smervoe

Options :
Areolar tissue

DBCEIrerd Sres

Adipose tissue

DCTE Seareo
2. ¢

Reticular tissue

2FOS SFLo

Tendons

. e.mm LiotSdo
4.

Question Number : 45 Question Id : 4387198365 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which set of excretory organs 1s found in Arthropoda?

& 8ocd DR D DY orTen Ggﬁﬁmeﬁﬁ EJDIaW?

Options :
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Malphigian tubules, coxal glands and green glands

;&r@a}e&m&& T0ge0, E848 Bodoen S0B8ak) 8 Bodoen
1.

Malphigian tubules and flame cells

arg}baacmé TeYsSen Sodadw N SETeen

Flame cells and solenocytes

2P SETAD SB0KD TS
3. % -

Nephridia and flame cells

$3)S7,80 0008 2P (U SETen

Question Number : 46 Question Id : 4387198366 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Tomarna larva 1s found in

&0\ Bodr doZiSoe D 20" 8JDWB?

Options :

Neries

- 585
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Balanoglossus
BOSTOD
2. "
Aphrodite
D Ges
3% T

Echinus

QDI
®

Question Number : 47 Question Id : 4387198367 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A): If the skin of earth warm is dried with blotting paper. it dies.

Reason (R): Respiratory exchange of gases occurs through moist skin of earth warm

TR (A): TAI D00 B6) S0 VG THSE TAM B, 88 AT B0eb.

5630 (R): Trdarans” od w0 BET° FLRT 00DV D000 2EHSR.
Options :
Both A and R are true and R 1s the correct explanation of A

A 208030 R 8ot ATAHAD 080330 R 930508 A £ RBR Do
1. ¢

Both A and R are true and R 1s not the correct explanation of A

A 208030 R Botd 8D 570 R 893008 A 20 0 D6 5760
2. ®
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A is true but R is wrong

A 2008 579 R DTG 5760

A is wrong but R is true

A 2038 520 522 R 2008

Question Number : 48 Question Id : 4387198368 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sponges that contain calcareous spicules and live in shallow marine waters are
mcluded under the class

B89, SV DAVE 2ErWS” DDA 57 001D Lozt $HAD Vyorgew

DTS BoTon?
Options :
Calcarea

5°g) dair
1. ¢ -

Demospongia

, BT onoir
2. -

Hexactinellida

:P?Qénéc:“
3. % e
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Scyphozoa

N T E T
4. %

Question Number : 49 Question Id : 4387198369 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following organ found in bony fishes keeps them floating in water
without much expenditure of energy ?

9 BHVS’ EIHeB D o7 30 TTVVD IPS” 38y D5 385 oS

[=6lobbuloMeTalTs WL TA Y]
Options :
Gills

?.DJ:.'};]?_D

Arrbladder

T o30S Fo

Bursa fabrisci

BIT™ 2R

3. % R
Diphycercal caudal fin

P20 Dg Py TRo
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Question Number : 50 Question Id : 4387198370 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Reptilian egg 1s described as

ROV oty @ GEorT HBodDuidN?

Options :

Cleidoic. amniotic and megalecithal

o0, GG B BAS HBSOIS
1.V

Microlecithal and amniotic

901 223S030S BN €A

Centrolecithal and ammniotic

R’ TRGS (206 Sy o3ne) SNV

Alecithal and anmiotic

DORGS 20B0EN &N MED

Question Number : 51 Question Id : 4387198371 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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In mammals, dentition 1s

L0mrees Good D0 D 058 BoBIB?

Options :

Acrodont and homodont

DETotd SB35 DAVGeS 33‘5“@0

Homodont and thecodont

BEVGoS B30 HE o] God DTg0

Acrodont and heterodont

D8 o85S SudotL D Godd 3)3“5“@@
3. %

Thecodont. heterodont and diphyodont

SETrots, DN Sod HBAKW BLTE todd DT~[Ro
4. )

Question Number : 52 Question Id : 4387198372 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most primitive and the slowest type of locomeotion in protozoans

SFETT dYod ol Efodl |TEY Lo @ JM6m woh Hnsn

Options :
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Gliding locomotion

_ ety Hooddn

Amoeboid locomotion

oleronG 1505650

2.¢

Ciliary locomotion

Euglenoid locomotion

CHPhTonE fSBsn
4.%

Question Number : 53 Question Id : 4387198373 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The sequential movement of cilia. in a longitudinal row. one after the other in one
direction is called

wahd SHHE 208w 28T SHTE w88 of 20Y 846" Sudo wlSerY) v wotrd

Options :

Undulation movement

Stoll Josss
1. #
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3.¢

S }’11'2111‘0110118 movement

LJEre ochad 3504

Metachronous movement

Li e Sol 3008

Effective stroke

(shgmeds qey

Question Number : 54 Question Id : 4387198374 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

A temporary feeling of an exaggerated Joy. well being. pride and eptimism
associated with drigs and alcohol is known as

- : 5
woptd, Srdfidoye JNErio Sy TR0 San agiio, 8o, Spo od whirs

Options :
Hallucination
g%

1. %
(iddiness
e E‘aé&cﬁo

2.
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Euphoria
3.¢
Addiction

et

Question Number : 55 Question Id : 4387198375 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following

List -1

List - II

1) Monkey

a) Reservoir host for Trypanosoma

11) Female Culex mosquito

b) Secondary host of plasmodium

1i1) Man

¢) Secondary host for wuchereria

1v) African antelope

d) Reservoir host for plasmodium

v) Female Anopheles mosquito

e) Primary host for plasmodium

[BobiTrdn 850050

of-1 oa-1II
1) 8% a) (BT PErS eddrsfon
1) ed%858%5% b) ardfhichos Scfichesion
= R L k] ! od

) as8edrs Grfichesgan

d) spfiabod edalragon

e) PAGaho% S sesgon
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(1—c). (11—d), (111 —e). (1Iv—-D>b). (v—a)

1. ®

(i—d). (ii—c), (ili—b). (iv—a). (v —e)
2. ¢

(i—b). (ii—a), (ii—c). (iv=d). (v —¢)
3. %

(i—a). (i —e). (ili — ). (iv = b). (v—d)
4. %

Question Number : 56 Question Id : 4387198376 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Typhoid can be confirmed by

Baronk TG Agpds H65
Options :
Widal test

£

oo 230

-
I s

1. v
ELISA test

ELISA %é3

Western blot test

358 rdd B8
3.8
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Liver function test

TEdbo S0&% H6%
4. %

Question Number : 57 Question Id : 4387198377 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the given diagram of the cystic stage of Entamoeba
identify parts labeled as a. b. ¢, d and select the option ?

Spas dowlner @nY) 8L Sob a. b, e d
Frre 19809 ¥B85 Sdrgrdod oobd dchod?

Options :

a — cyst wall, b — Nucleus, ¢ — Glycogen granule. d — Chromatoid bar

a— SdogEn, b — Sodso, c — [5%eS0wd, d — [Feront dirin

a — Nucleus. b — Cyst wall. ¢ — Glycogen granule. d — Chromatoid bar

a— Solg¥o, b— Eeé‘éndéﬁu ¢ — Bf=S0md, d — [Fowrand Sdn

a — cyst wall. b — Nucleus, ¢ — Chromatoid bar, d — Glycogen granule

a— S¢in, b — Sogde, ¢ —  ([Fhwrobdirie, d — [Feitmd
3.¢
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a — cyst wall. b — Nucleus. ¢ — Glycogen granule, d — Chromatoid bar

a— S¥%ise, b— Soigmode, ¢ — [Feltmd, d— |[Flwronlddrdo
4.%

Question Number : 58 Question Id : 4387198378 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Stages of Plasmodium lifecycle in mosquito in sequence

G508 rificho 4085506 S¥a SBET

Options :

Sporogony — Fertilization — Formation of oocyst — Gametogony

g £ =,
LS 88 —  Polstuo — Hoaw¥dettdo Lo — dusEfs

Formation of oocyst — Gametogony — Fertilization — Sporogony

e . &
ﬁ-oaﬁxﬁé’}ﬁféﬂwﬁ;&&o —  QAebEHs — Polsteo — %éfﬁéaémﬁ

Gametogony — Fertilization — Formation of ookinite & oocyst — Sporogony

eSFGHs — Pobbme — HRHodeglno & Hodkiutito Mhkve —  RZASES
3. -

Gametogony — Fertilization — Sporogony — Formation of ookinite & oocyst

& y = i - a2 3\ - o -
Dedsds — Pob¥bme — REALHE — diddoctngdzo & SocknleSdo Ltuo

Question Number : 59 Question Id : 4387198379 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

AMTatahh tha fallanrine ralatad +A4 adantatiane 11 amiatis halafat?
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AWICELWld RAL%W LW LAWY 'f'\'l.l.iE. L Bl ™l LOF {L\.J-CllJli’.llJ.ULlO 11K (ILlLi-([':l.\.-' LACELFLECLL &

LIST - 1

LIST -1

LIST —1II

1) Influence of light on
non-directional
movement of
Organisms

i1) Locomotion towards
the direction of light

111) Locomotion away
from the direction of
light

1v) Orientation of light of
a ‘non-motile
organisms’

a) Phototropism

b) Negative

phototaxis

c) Positive

phototaxis

d) Photokinesis

p) Euglena

q) larvae of

pinnotheres macculatus

1) Growth of plants

s) Cockroach

(B0l TEL 2o I8 £0=08 Ho

S et

o5- 1 o5 11 o8- III
Zop B 4. T B (e ey i -
OFdird stopmod Bgrdo | g Jsro8uisgno P )eS=nT

1 o ST witboomres
o B550E

b Jamerd)¥ 5208 ol

-:r\“* Bale

g*““‘ﬂ‘éﬁw SrdOas &o

ﬁsvau

111 %0 SETT0E Eieg@ééoﬁc

£ Soiksn

C )FTES o8 wikdy
Ho

T }Emégr&, lh s

d o8 sdifsdo

S ]ﬁ%oé
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Options :

(1-d-q). (11-c-p). (111-b-s). (1v-a-r)
1.

(1-c-p). (11-d-q). (1i1-a-r). (1v-b-3s)

2. %

(i-c-p). (ii-a-r), (iii-d-q). (iv-b-s)

3. %

(1-d-q). (11-c-s). (111-b-p). (1v-a-r)
4. %

Question Number : 60 Question Id : 4387198380 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In summer. in lakes upper more warm water 1s separated from bottom cool water by
mid water is called

Adoroost, Httred® adtduod® afs IS 33 H0, okihs 55 JSud D62 3% Ihr Sk
) T 1 C. —o 2

S Godﬁ*&; sodrtn.

Options :

Thermocline

8535
1. % *o&
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3.¢

4. %

Thermodynamics

§5585505,

Thermal stratification

agsbesso

Epilimnion

DO,

Question Number : 61 Question Id : 4387198381 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Respiratory bronchioles terminate into

=0

A

oo A06°8 3hHhdotron?

Options :

1. ®

Tertiary bronclui

Alveolar sacs

TPaksR Y Feoen
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Alveolar ducts

TSR Y Tyres
3. ¢

Prunary bronchi

aPgans Fograres
4. %

Question Number : 62 Question Id : 4387198382 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Spleen acts as a haemopoietic organ
hitesn DErdronds slabdo m Jod 8% F9Tcd?

Options :

Until the 3™

month of gestation

glehliget=s & 35 Ro 8%

: h ;
Until the 5 month of gestation

gle\tmgetas &° 55 Jw H6%
2.¢

Until the 7™ month of gestation

gleatmidel= & 78 Re 5865
3. %
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Until the 9™ month of gestation
gleyimgtelz & 95 3o 8D

4. %

Question Number : 63 Question Id : 4387198383 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following are the modified smooth muscles of the afferent arteria?

|Sch >oE 2y Woll SPTrEr Gl Rl SolTres 2072

Options :

Juxtaglomerular cells

2Ty isodherd Swres
1.V

Vasa recta

SO
2. %

Glomerulus

85534 wiw o

Peritubular network
4, ® o
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Question Number : 64 Question Id : 4387198384 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Angio tensinogen 1s produced by
soedr By el & a$d Jakeds

Options :
Kidney

2| Dolo

Heart

S0
Pituitary gland

Sasrd (Hod

Question Number : 65 Question Id : 4387198385 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Sarcoplasmic reticulum of the muscle fiber stores
PEYartnE B8des BO0 Qe ddob?

Options :
Sarcoplasm

rEhapao

Potassium ions

srirhicho edrs

Calcinm tons

Foaho wdiriy

Collagen

BPeresd

Question Number : 66 Question Id : 4387198386 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which part of the brain is responsible for the recall of memory?

DSOS 0 rdsn epdTeih 560 gbB 3ok 7
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Options :

1.

\'.i-f

Hippocampus

S

Medulla oblongata

Question Number : 67 Question Id : 4387198387 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Match the following

A. Peptide hormones 1. TSH. ACTH

B. Protein hormones 2. ADH. Oxytosin

C. Amine hormones 3. Estrogen. Testosterone
D. Steroid hormones 4. Melatonin. Thyroxin

A.2pE &th%ee 1. TSH, ACTH
BPES Sehe 2. ADH, «88%5

C. o2& L‘ﬁﬁsgézau 3. Sifus, BSYPRTS

povanE FEhhes 4 oS8, FooyS
Options

A4, B3, C2. DI
1%

. ,

, v A2, BL C4, D3
; % A3, BL C2. D4

AZ. B4, C3 Di
4. %

Question Number : 68 Question Id : 4387198388 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Maintenance of water and electrolyte balance 1s influenced by which hormone?
#8808 Db 20888 & S8 Fhodtos® SE 6507

Options :
Thyimosin

AERh )

Calcitonin

Testosterone

Srfhore
B3 ED

Thyroid hormones

goronk $65%
4.

Question Number : 69 Question Id : 4387198389 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

B-lymphocytes m birds are produced from

Options :
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Kidney

vl Lalolatrey

Bursa of fabricius

O

Keel

&

3. %

Heart

tood

Question Number : 70 Question Id : 4387198390 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the monomer forms of the Antibodies among the following groups

- O ! & e
[Bof Niiriry el o8 wowmitrs (B8 Troin tkio
Options :

IgA . IgD. IgE
1. %

IgG. IgA. IgM
2. %
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IeG,.IgA. IgE
3. %

IgD.IgE. Ig G
4. v

Question Number : 71 Question Id : 4387198391 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Antigen — Anti body complexes are removed by
A. Platelets
B. Eosinophils

C. Monocytes

(Boes - (Bodsr GofiFud LD Fuharan?
A, 8% Ho8e

. 2RSS,
C. 3 e

D. RBC
Options :
Aand D

A 8650 D
1. %
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Band C

B %eai C
2. ¢

A and C

A Sbdtn C
3. %

BandD

B &eaw D
4.

Question Number : 72 Question Id : 4387198392 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is the correct sequence of human reproduction?

STDD DBBS AIE), DTS $020 A6 ?
Options :
Gametogenesis. Implantation. Fertilization. Gestation, Parturition

Dy SeTen DG\Go, Dods ;;@gv:m, Dagery SLANS, BT3B, R0
1. % '

Gametogenesis, Gestation. Implantation, Fertilization, Parturition

Dz SeTen DB Gkdo, ATHG, Dotk DAT DD, DaSETL SLAWE, DD
2. % '
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Gametogenesis, Fertilization, Gestation. Implantation. Parturition

Dy SETeL DB\ELo, DRLITY v, AT D8, Dot PAFDD, HRDo
3. %
Gametogenesis. Fertilization. Implantation. Gestation. Parturition

Ha grred Do G, DOBECMS, Dot DBF DI, (TG, BIDJo
4. ' -

Question Number : 73 Question Id : 4387198393 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many foetal membranes are formed during the development of human embryo?

AFDD DLrDBS” AV Dokt LPIT] VTV DTER0T?
& ik

Options :

Question Number : 74 Question Id : 4387198394 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following refers to reproductive health?

& $o& TOS" DB DBBS Voot BB (ijoR0 AFPDCH?

Options :

Having highly functional reproductive organs

oS SAirdod0R ;_:;,m?g@geg eSchTwR DA Dedto

Delay in onset of puberty

PoNs DODS(S BURjo T ko

Lack of functional normal reproductive process among individuals

D[S0 206 SIS SorT FLGer VAVSBD DBV £BA GoclsT o

Having healthy reproductive organs

58 ({HoB 20D PBNA\G STV DA Podtro

Question Number : 75 Question Id : 4387198395 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Iin haplodipolidy
DS oD DALS &
3]

Options :
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The sex of the offspring is determined by the number of sets of chromosomes
RoTrd 2L Johsd ©d S8R Dot ERrd’Dd 20t Doajad et
:}E‘ﬁo:ﬁﬁﬁmmoé

Fertilized eggs develop in to males

DOBESE Do Bolre NG EerT DB Dot

Unfertilized eggs develop in to females

DOASER BodD VOTmeLD ) BDHVIT VDB VoA

Females are haploid and males are diploid

D 2D DEVBS0 0L Y YL GLOD 23%o

Question Number : 76 Question Id : 4387198396 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is incorrect about Mendel?
oES Be) & o0& T°25° DA S ?

Options :

Mendel is called father of genetics
. D00 BRA] TR DT DTV

1. -
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Mendel used pea plant for experiments

20 LT 20E) VR B DATTOL EHOITAETED

Mendel discovered linkage

Q06O DTV S B ST
3.¢ =

Mendel proposed law of dominance

oGS LrdE ArTYY) DAF ot
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Which of the following is incorrect?

& S08 T 20 == AB?

Options :

Karl Landsteiner and A.S Wemner discovered Rh antigen

56 erol D6 B A. S. DB6 RH p8235°0) S8 ) 6
1. ®

Rh factor is called D antigen

Rh 57650 D 282880T a6
2. %
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Ve

Person having D antigen is called Rh

D-08 2380 £9AR 218D Rh™ m HenFdd
3.

Person having D antigen is called Rh™

D-08 2380 DA H18D Rh™ m Henrd
4. %
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Which of the following genotype produces Rh negative phenotype?

& $0& @ 2d0) Grdo Rh 2065d) & 53] SPDAVA &I D BReA?

Options :
Cdd
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Adult stem cells mostly belong to the following type

TE A0 SrTeN A8 I & S0l 65708 BebID?

Options :
Toti potent

£5°¢8) T’e3oed

1. ®

Pluri potent

a;')_j"EJ edoed

Multi potent

BsT0% S Edotd
3.9

Uni potent

De Feots
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Polio vaccine is also called

FOEr T33O R0 & Do S16 otPed?
Options :
| % BCG
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DPT

2. %

Salk’s vaccine

- 5.'1“95;3 J%:JEJ

HPP
4,

Physics
Section Id :
Section Number :
Mandatory or Optional :
Number of Questions :
Section Marks :
Enable Mark as Answered Mark for Review and Clear Response :
Maximum Instruction Time :

438719176
3
Mandatory
40

40

Yes
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The dimensional formula of emissivity of a body is
28 DAY &TFES oI S Arde

Options :
[ML 19 T3]
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) % [M! 12 T3]

3\{4} Emﬂ‘ LD TD]

4w IMPLE T

Question Number : 82 Question Id : 4387198402 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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A person i1s running with an uniform velocity towards a flyover. He takes 5 s to reach
the flvover from a reference point and takes 50 s to cross the flyvover from the same
reference point. If the length of the flyover is 1000 m then his velocity is nearly

WS D[S DV D08 28 B0 J0BD PR DBAGOLOT) . 28 Q08 Doty Aok
QB0 HoBVA WSS 5 5 Q003 & BN Doty Aok BV DoBSV TPV
50 5 DEW. IS0 D0BD T 1000 m 900D e ;ﬁg_éﬂ PelaPobUIRSRE b lobion

Options :
L% 83.1 kmph

- 80.0 kmph

3 % 75.4 kmph

L% 85.2 kmph
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Question Number : 83 Question Id : 4387198403 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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Four athletes A. B. C and D i a long jump competition each running at a speed of
30 km h'. While jumping, they make angles of 30°. 45°. 60° and 75° with the

ground respectively. Then the winner of the competition is

erof 20D TS FSTD AL B. C 2000w D oo wgen 288,60 30 km b
JEoVE DAORDAT FradS SO/ 30°. 45°, 60° 20dadn 75° Smo SR
GSrETrd. oS & '8 &° D

Options :
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Two particles A and B are moving along positive x- and positive y- axes respectively

with the same speed v m s7. At t = 0. they both pass through the origin. The

equation of the straight line joining A and B at time t is
Boc Srren A 8030 B ed DAFIVD A& vm s & 60T 6D x — o, 6D
y — ©fo dowc: dwTyow. sTwo t= 0 5G ©D Botr Jrewdotd) Aret

©9odD, SPwo 156 AL B 020 Se0R) DOTED CInE), DASCEIN

Options :

L% y(t) = x(t) + vt

L o YO =—x(0)+ ¥t

; % Y=+

4 % }{U S K(U
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A truck carrying sand having a total mass of 1600 kg is moving with a uniform
velocity of 15 m s, Sand is dropped into it at a rate of 24 kg min~'. The force
needed to keep the truck moving with uniform velocity 1s

D036 15ms' & DEOR) RIS sﬁ}ﬁa@t w8 L)) D0do g;:w?str“%‘ 1600 kg.

&), §°08 RR0ER0 24 kgmin” Bend FODEDTE®.  LOND & WL, Do DorT

EoWITAR) BRADJodSVIRD 8o

Options :

v ON

, % L6N

;% 40N

, x 4N
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Statement [A] : If a body 1s in equilibrium. then the resultant of the forces acting on
the body is zero
Statement [B] : Action and reaction cancel each other as they act on the same body

Statement [C] : Centrifugal force is a pseudo force

OB (A): 28 SRV VT RSS” Go TrIP DIV LY DB ATV DW

DSSHo (B): t:’:;dé S0Bosn D :555 208 SRV DA Bodtie HUD @) Bokir
2ETNE S ela 8 00

POB0 (C): DToGeIvt0 BIG TT| LYo
Options :
A, B. C are all true

A B.Cu esr.?.};L "foe:’eéaﬁaa

A, B are true but C i1s false

A Ben “n}ejéam 5 C w“n:ej_sm.

A. C are true but B is false

A Cen ;‘ae:‘c-émo =2 B @“nae:ﬁgan.
3. ¢
B. C are true but A 1s false

B.C e “n:ejéajn s 0 A e:r‘.-cejﬁ;&n.
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Question Number : 87 Question Id : 4387198407 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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A block of mass 3.0 kg 1s pulled at a constant speed with a taut rope along a
frictionless plane that is inclined at 30°. Then the work done by the weight of the
block if it is pulled a distance 4 m along the inclined plane in joule 1s
[Acceleration due to gravity =10 m 5"3]

B8 3 kg e sayd &8 S8 & 30° >en o fode S0 Tw doo Dowd i GRS [THE

"u

35.; 4 m &rfo efhdes o Ba 2t D8S 20 &F oft

erfiord. & TPen dwo dond

Iuﬁaﬁ

[rocex exosan =10 m s°

Options :
1.v 00
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An experimental train uses 1 g of nuclear material to run. 90 % of the produced
energy is wasted to overcome the frictional force between the wheels and the track. If
the weight of each coach is 18 ton (18000 kg) and it runs at a speed of 100 m s, the
number of coaches the engine can drag at a tume 1s

(Speed of light in vacuum 1s = 3 X 10° ms™)

2.8 (BErrdE Ceo SESeUS, o Deo noai 1 g So|5g STy, Tdol. v Jwn diFrer 0ain

0eD 6P S5 s obifodhen add wond 36° 90% thyabo wondd., @ Jw
- an % [ ¥ I } —1F e}

aF 5 18 ope (18000 kg) ot ocm 100 m s Siso %08 @of 58 Teos®
o gosd oo o0 S 5e Soxg

(B0 cdrgoes” 08 O = 3X 10° m 5'1)

Options :

% 100

5 % 1000

, x 10000

. 100000

Question Number : 89 Question Id : 4387198409 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

79/140



7/12/22, 8:43 PM
N-1
ml 1] 1 areplaced at x =N on the x-axis where N=-1. 0. 1. 2.... 0. If the
2) N
total mass of the system is M. then the position of the centre of mass of the system 1s

1 Qotdder X = N 58 o, g N = -1, 0, 1. 2,... 00,

L
F3]

M et Bodo S5 (855078 wows, TR (K500 ‘éo[jiﬁ;ésin

Options :

(==—.0.0)
L, AM

S5m
——.0.0
(4M )

2. 8

3m
———.0.0
3 % (41\-{ )

1 m

I 0)
4 M

(

4. %
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A cwrcular ring of mass 10 kg and radins 1 m 1s rotating at 210 revolutions in a
minute. It 1s brought to stop in 2 s. The required average power is

$%550°8 10 kg obcfo argo 1.0 m Ko §@@8 Sof DDoarD3 210 |ghleres TakofB.

AR 2 s of Yo £8 8 3T, wand Hels S ﬂvmgém

Options :

Lk 980W

) 1210 W
1340 W

3. %

L % 1580 W
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A block of mass 20 kg 1s connected to the top of an inclined plane by a spring of
negligible mass. unstretched length 0.7 m and spring constant 200 N m™. How far is
the block from the top along the incline i the equilibrium point? The mclined plane
1s frictionless and the angle of inclination 1s 30°,

(Acceleration due to gravity =10 m s™)

Teo S0iw 30° Ao DD Tew dwop D 20 kg SITF do AR,
DY BoBEAD BDHTR FARCNE Jwecd 0.7 m TP Swdain 200N m’ 2306

DT (10 M)efl L SHOTW. DWERBS” T Swop ok B BFSIW

(dso8g S¢oran =10 ms™)

Options :
| % lm

. 1.2m

3 % Lom
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A sunple pendulum consists of a small bob of mass 40 g at the end of a cord of

negligible mass. If the angle 0 between the cord and the vertical is given by

0=0, cosHt +¢] rad. If the maximum kinetic energy is 1.25 x107 J. then B, is
(Acceleration due to gravity = 10 m s7)

2.8 58¢ E'odod® 40 g (EgTeEn, ﬁﬁéﬁﬂﬁjﬁﬁé (B5ore (o TTPRE DE8 Shed aol.
® T80 Reod® D SFwo 0=0, cos[4t+¢] rad, =r Koy He=yd 1.25 X107 7T
wons, 0, Deos

(rbadesg edgsmaan = 10 m <)

Options :

| % 0.08 rad

) % 1.75 rad

3 % 4.25 rad

4 0.1 rad
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A satellite P takes 2 yvears of time to make a circular orbit of radius R around the earth.
The time period of another satellite Q if 1t moves in a circular orbit twice the orbital

radius of satellite P around earth 1s about

R syarge fio &8 HEvss $5&° el Ser BeFLoDed aific P &5F% oo 2 Zodgoren.

afiffdro P @w) 857 SRS 0§od sgrgo e iz 5580 Begnomed afiiro

Q &aFd $ddbo Lsrdm

Options :

h

.2 years

L

2 Hodgore

L

1 years

h

1 Sosdyore

5.6 years

5. 50&-&; oo

3.¢

5.9 years

5.9 Scddoren
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A metal cube has an edge length of 90 cm. If2 x 10° Nm™' of pressure (or stress) is
required to reduce the edge length to 89.5 cm. then the bulk modulus of the metal 1s

pE SR e OIE) o TEP 90 cm. ot TEDW 895 cm LD
SRowR 2 X 107 Nm™ 2o (28800) IS, S Babssd Mnso

Options :

| x 1% 10" Nm®

2.5 % 10" Nm~
2. %

- 9 x 10" Nm™

Lo 12X 10" Nm™
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Water 1s flowing through a horizontal pipe of diameter 20 cm. If the velocity of the

50

2 = : - : -
cm s . then the volume of the water collected 1n litres in 1 munute

flow of water is

s

20 cm TR0 (L 28 £82 VATBG Fido T(T° DG POTowd WY 6. I DT

5

Do — cms™ 90008 1 W0t HEBow ES DS 10D HBATH Deges”

|8

Options :
% 150
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5 % 50

, x 100

4&,500
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Two capillary tubes A and B are connected in series. The length and radius of the
bore of tube A are twice those of tube B. The ratio of the pressure difference across
the tubes A and B 1s

Soch $3T°9Se0 A 20Boin B 363¢5° Senneaddd. 837798 A aing) TED
bablsToutt ::icg:.r°53°2n 837795 B Jendwsd 88o). A Huboiw B Sr9sw wdcw
2065 26 B (Sre) G

Options :
1. B 8].

7 o 1:8
3 % 4:1

g % 14
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Question Number : 97 Question Id : 4387198417 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
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A steel rod of length 5 m and radius 2 cm kept at room temperature is heated to
10 °C above the room temperature. The % change in the volume is
(Coefficient of linear expansion of steel =10 x 10° °C™)

olw) agﬁg@ ¢ Ao Sm ey Aodady 2 cm :.Féﬁ‘gsﬁw &) w8 &8, Qci,i}, fal~
ﬁiﬂ?ﬁeﬁ S083 10 °C 283 280 D& BID, T 20 DBITEIL” 20700 FBAW

(&8, BG, T°E' Aeagaw =10 x 107 °C?h)
b 285 )

Options :
0.03

1. v

0.01

2. ®

0.9

3. %

Question Number : 98 Question Id : 4387198418 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response

Time : N.A Think Time : N.A Minimum Instruction Time : 0

87/140



7/12/22, 8:43 PM
At 30 °C volume of V is occupied by 2 moles of an ideal monatomic gas. If the gas
expands adiabatically to the volume 4V. then the final temperature of gas

approximately 1s

(2 =1.26)

30°C ¢ Coc Poby bR SN [aT ) D8 DOEIATLWVE TOID V oD DOIFETAY
R3S oWo . & T~olD) ig&ﬁﬁé PS03 ELT° 20 DBBRSW 4V = a*_s%sri}orﬁa =

S0 agf’;je:ﬁ R AT COTT

(¥2=1.26)

Options :

| x 150K

, % 100K
v 120K

, % 140K
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, : , : 9 .
Steam engine of 30% efficiency wasted heat of 2.1 X 10° J min™. The work done
by this engine is

30% S5 SORD 208 DB oot WIS 2.1 x 10°7] & 33 I, BRE.

29000 €200 oD WD DI

Options :

L 4 E . -1
. Fx 107 T mn

, % 8% 10% J min™

. el ... 5
3 @ Ox 10 ] mmn

L% 1x10° T min™
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A cylinder contains 2 mole of a monatomic gas at 27 °C. The amount of heat energy
that should be added to the gas to double the rms speed 1s nearly
(Universal gas constant = 8.3 I mol’ K™)

205 %Pﬁﬂs“d ¢y 27 °C agﬁg@ 36 2 2 DE DOSTENE TPodnD) &0 £9A Sod.

& TPO3VRY) s DD o) VWORETAS & TAWRYPSY VD DV afgéé

ASTCTT

(Fro58s Trosn Romege = 8.3 Tmol” K7)
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Options :
| x 345
. 12.6KkJ

1.8 kJ

4 22.4kJ
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Phase difference between two particles of a medium lying between two consecutive

nodes is
ot 9REMT® 06 (10 28 03dSe &' Totdd DotYY G GF° 360

Options :

1.\'«’*’0

| E
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Question Number : 102 Question Id : 4387198422 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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A laver of oil floats on water. A ray of light shines onto the oil with an angle of
incidence 30°. The refractive indices of oil and water are 1.5 and 1.3 respectively.
The ray makes the angle in the water is

wE ArD T6 0P B . w8 5708 &dte 30° D83 e D Top
2300T'0d. D HBaIn IO Y SSBHD AETEL ST 1.5 Hwdosw 1.3.
es 5703 30830 VOS° B S'eao

Options :

iy B2
sin” (=) rad
1. % ?

s, ! 1
sin” (—) rad
2. F= 1.5

-\
sin l{ﬁ) rad
3. '

T
sin” (&) rad
4.% :
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In a Young's double slit experiment, a set of parallel slits with a separation of
0.1 mm 1s 1lluminated by light having a wavelength of 620 nm. The mterference
pattern is observed on a screen 4 m from the slits. The difference in the path lengths
of the light waves from each of the slits to the location of a 4™ (fourth) order bright

fringe on the screen is

2& ooh 2oty O HABrEees” 0.1 mm GrdeS D BoDedd Bodd D&AFothd
0dgwB0 620 nm B6BBG0 (L Tod HT-FDBANWID) &. Dge Bod 4 m
GrGoes” (L BC D BB S0 PP HOIDoBEIG. 36 45 §O B{BI00L

08 5G Bot D0 Aol SBy 570 BGerTY 206§ 06 Beso.

Options :

| & 2.48 pm

) % 1.24 pm

155 nm
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As shown in the figure. two tiny conducting balls of identical mass and identical
charge are suspended by two non-conducting threads of each length L. The

separation between the balls in equilibritum is x and is related to L as X € I’ 1f 9 is

assumed to be very small then the value of p 15

Heoed” BTrad Dot ROY PAFD GHTPR 0OAT DO R i}d:?gm“;ﬁéo e
S0t &3 WR) TIPS oo 285)8 8 TENHEL Botd TIFE Tood

STEBTR. RJTRIE &) IYE BeB0 G| GIGo X HBOID X B

6 crer 38D R80E. B Dens.
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2

3. % 3

b |
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A particle of charge 7 pC is moved away from an infinite non-conducting sheet of
- . T . .
surface charge density 5.0 pC m™ to a point at a distance of 5.0 cm. The work done

by the electric field due to the sheet 1s

(—— =9 x 107 SI unit)

4TEy

7 uC esd%200 £OAD 20€ €evo, 5.0 tC m~ &HBBe DA[ED3 Fogh £DARD dodd

OIS HVS Aot GrGerT 5.0 cm BODLCI. &8 DVE AANE), D[S TSI

WA DA

1

dmEy

=9 x 107 SI HdTeadw)

(

Options :
L ® 79 m]J

) % 158 m]

- 49 m]
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4 99 m]j
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The equivalent capacitance of the system shown in the figure between the pomnts A
and B is

S0 Deod” A Hdotw B DocdodHw D06 203 3T 0D,
10 uF 10 uF

|l [
I I

Options :

L% 5 uF

) 10 puF

3 % 20 pF

4% 40 pF
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A wire of resistance 50 () 15 elongated to get a resistance of 60.5 (). The unelongated
length of the wire is 100 cm. The wire is elongated by

TE 100 cm S08o3w DS DEFGSD 500 do 80y Fadom oo DS
DE G2 60.5 ) 900HE. 00D & 8 TENHS” Do
Options :

|y 6%

, % 8%
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Two conductors A and B are made of the same material and have same length.
Conductor A is a solid wire of diameter d;. and conductor B 1s a hollow tube of outer
diameter 2.0 mm and mner diameter 1.0 mun. The resistances of the conductors A

: R .
and B are R; and R, respectively. If R—i = 3 then d; 1s

A HBcdw B e 28 ::r:r“gc & SOITO0VD VAT TED) L Botd Toirsten. A
TrEA d; ToRe Ao 84 8031 B St 2.0 mm erdey S7jdrgan 1.0 mm

e90ehd 355‘%0 fo Ao, A Hdoin B omirsw D8 e Hdodrr Ry H0daiv R,
208080 =2 = 3 o d; Dewsd

2
Options :

L 1.0 mm

5 % 1.5 mm

3 & 0.75mm

4% 2.0 mm
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: : ; ; . . - ;
A wire of length 20 cm 1s moving with a velocity of 180 m mun™ perpendicular to a
magnetic field. If the induced emf in the wire is 3 V. the magnitude of the field in
tesla is

JEdy 20 cm G0 208 &6 180 mmin” Do D6 €90, 08 EB0L Loty B35
DOV, &5 S’ DTS emf 3 V 900, &5 90T od £8 Jed 8 &°

Options :

1.%2
2.%3

3003

4% 10
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An electric field of 1000 V m™ and a perpendicular magnetic field act on a moving
electron to produce no net force. If the speed of the electron is 2.5 km s, then the
magnitude of the magnetic field 1s

B0 &) 28 JUTWD P 1000V m’ D[S Edo 00N VTV (0TS
Loty B3S” VALY oS Edo &N B VTN P DIBIV IS LVe BTV, &
DO Dffo 2.5 km s o, e 030 00 £ Dewd

Options :
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L 04T
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The magnitude of the magnetic field produced by a short bar magnet at a distance of
20 cm from the centre of the magnet on the normal bisector of the magnet 1s found to
be 5 X 10° T. The magnetic moment of the bar magnet is

28 T SotoBdF) oo, &7 Sogo Aod. G| Veed P 20 cm ArGee)” D648
O] 0B £ DBIATEBW 5 X 10° T. esond GBokODT) 08 ORI 0 Ao

Options :

-1
| 0.1 FT

; -1
L v 04TT
06T}

g
4 % 1231
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Question Number : 112 Question Id : 4387198432 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A circular coil of radius 10 cm and 50 turns 1s rotated about its vertical diameter with
an angular speed of 20 rad s in a uniform horizontal magnetic field of magnitude
7% 107 T. If the closed loop of resistance of the coil is 20 Q. the maximum value
of current in the coil 1s

TG0 10 cm, @60 50 (o w8 86 0 B3 Dend) TRo DEorr 20 rad s~
Eeiod & & D888 E8n HIrodd wabd)od Fdo T X 107 T & Homo
DORVIDN &. e Te T8 Vodyd Jeow DEGo 20 Q esprdd e3 &3 308 e5°9) gieTe!
DB
Options :

% 0.08A

) % 0.06 A

L% 015A

L v 011A

Question Number : 113 Question Id : 4387198433 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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A power transmission line feeds mput voltage 2500 V to a step down transformer
with its primary winding having 3000 tums. The number of turns in the secondary in
order to get output voltage of 220 V 1s

28 ©I0TR DOIESAL CIE), 3000 W BU TGS S LS 28 g,;un;)éaa

BS] Ny 2500V ':aif)aa“ci). ngm S’gﬁ 220V ﬁ"ocﬁéﬁéa‘ﬁ Fea O r.ﬁ.':%g S5
(R el ‘r‘boa:.t_s
Options :

| 264

Question Number : 114 Question Id : 4387198434 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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An electromagnetic
— — —3 —

E(t)=Ew sin (kx — ot). B(1)=Ba sin (kx — ot).
= 2t - A . R :
EwandBw are (1+2j) and( -1 e j) respectively. then the direction of propagation

of the wave 13
w8 DE(EAVI 0B SCoffo CINE), DES BB WONVIY oS ZTLD DO
E{t)=£'m sin (kx —ot). B(t)=Busin(kx —ot). Ea S0dcdn B, o &%en dHddmr

AR S
(14 27) sodosn (—1—;—;1) 9000 o Qﬁ“d &%

Options :

v K

Question Number : 115 Question Id : 4387198435 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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magnetic

direction
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A pulse of radiation is absorbed by an object initially at rest for 107 s. If the power
of the pulse is 9 X 10~ W, then the total momentum of the object received is

(Speed of light in vacuum =3 x 10°ms™)

D30 DS AL 28 DR 107 s Two Few wE D6 VyBIR TRV 6.
ZRNICTa LY &mgéc 9 X 107 W 2008 &5 3203 (erod Do G5 DD

(3] C3rRSes” Tod H& =3 X10° ms™)

Options :

| % 3x10°kgm s

) % 3 XlD’likgm g

3@ 3x 107 kgm s

1
. 3kgms

Question Number : 116 Question Id : 4387198436 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The photoemission of electrons occur when a light of frequency 5 x 10" Hz is
incident on a metal surface with work function of 2.0 eV. The maximum speed of
emitted photoelectrons is approximately

(Planck’s constant = 6.6 X 107 J-s. mass of electron =9 x 107! kg)

2 Do 2.0 eV G STrop 5 X 101 Hz T3t 60 578 D303,

5P08 JA(S JVTRW &G0 WO, & VSR (8 didw TR

(F08 HT08200 =6.6 X 107 I-s , JUTD @307 =9 x 107 kg)

Options :

3 5 -
— 18" ms
5

e

1
1. ®

243 %10° ms”
2. ®

25

-

D

5 3 |
x107 ms

3.¢¥

i><]{}j ms”

4. % V3
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The shortest wavelength in the Balmer series of hydrogen atom spectrum is

[For hydrogen. Rydberg constant =1.097 x 10" m™]

TERD DOATENY) SF Do’ erdb 33 S £IY SEonBG S0

(TEad dws), 866 Doogo =1.097 x10'm")
g

Options :

% 91.2 nm

) 364.6 nm

820.4 nm

o 5 AR
L x 22 8.9 nm

Question Number : 118 Question Id : 4387198438 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ratio of the radii of the nuclei 1o X®*and g4Y>'% is
20 X% 2080300 54Y?1® Bogsmw T jF T S

Options :

Lv 3

2. ®
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"_J-_ll':io

oo | =

Question Number : 119 Question Id : 4387198439 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

For a CE transistor amplifier. the signal voltage across the collector resistance 1s

2.5 V. The cwrrent amplification factor of the transistor is 150. If the input signal

voltage 15 0.01 V and base resistance is 1.5 k). then the collector resistance is

CE & a0 ;géoeﬁ" 28863, DB Go S0G] VeSS Sgﬁ 25 V. 8 g6 3)::13?593
DOD Meego 150, oSS DT S'egﬁ 0.01 V 208030 3576 A8 Go 1.5 kQ 00
250863 VB GAW

Options :
1.5 kQ

1. ®

- =
) v 25KO
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Question Number : 120 Question Id : 4387198440 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a signal transmission, if the amplitude of the carrier wave 1s 10 V and the
modulation index 1s 0.6. then the amplitude of the side bands 1s

208 Do DICoeS” T SCofS SonND HOWSH 10 V Sodoiv SFEHTRD Ard

0.6 €900 ﬁ“ﬁ%‘f.}e&u E0D® HBS

Options :
L 3V
6V
2. %
Y
%
W—
% 16.6 §
Chemistry
Section Id : 438719177
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
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Question Number : 121 Question Id : 4387198441 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The energy associated with radiation of wavelength 700 nm in eV 1s
700 nm SGof BGco (O DéSeoS RE0ED 3§ eV 0’

Options :

o 1T

Question Number : 122 Question Id : 4387198442 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ionization potential of hyvdrogen like species 1s 217.6 eV.
neutrons in that species is
TERD Ho) 7S g), VOIS ¥S)0 217.6eV. T aotd AP Doad

Options :

13

2.334

LS

b3

The nummber of

108/140



7/12/22, 8:43 PM

Question Number : 123 Question Id : 4387198443 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following
List—1I

(At.no. of element)

(I) 56

List —IT
(Type of block)
(a) d- block

(IT) 48 (b) p — block
(III) 53 (c) f —Dblock
(IV) 67 (d) s — block
The correct answer 13

Sofd TR 2 DAL

oo —1 o — 11
(Surrege HEIDTEW “n:oa::_g) (eS 650)
(I) 56 (a) d- &S
(IT) 48 (b)p—ers
(IID) 53 (c) f— eS8
(IV) 67 (d) s —erS

0L ROTTT Do
Options :

% (I} — (b): (II) — (e): (III) — (a): (IV) —(d)

, % D= D~ (@) (D - (d): AV) ~(b)
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+ v (D= (@; (D — @): @) ~ (b): (IV) - (©)

4 » D= @: @D - (): (I - (a): AV) - (b)

Question Number : 124 Question Id : 4387198444 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Arrange the following ions. in the increasing order of their radii.

So8 03T, T m@&gw 288 €300 €900~ A0,

o N° F Mg”

I IT I 1V
Options :
IV<II<I=H
NI=IV<Il<I

IV <IIi=I1=<1I

4 % H=Il=1=<1IV

Question Number : 125 Question Id : 4387198445 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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In which of the following. the molecules are arranged in correct order of their dipole
moments?

So6 TOS BAOVo VWD T AIEID FHTTY WBADD gt
200G oN?

Options :
L% BF; < NH; < NF;

) % NF;< NH;< BF;

3 BF;= NF;= NH;

4 % NF;= BF;= NH;

Question Number : 126 Question Id : 4387198446 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the following. the species are arranged in the decreasing order of their
bond dissociation enthalpies?

$o8 T BIA0D. ) PR T L6 DL Do@“@hm 30 SA0es”
e&;ﬁoéamgm?

Options :

- U; ;-Uz ::Gf' 3*91_

O, 08 305 507
2.0 & 77
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@ B e BN 5
3.¢ 7 = E 2

O A, >80 > Gf_
4. % B ) B

Question Number : 127 Question Id : 4387198447 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ideal behavior of a gas can be achieved best in which of the following
conditions?

$06 D DEPBOG” 2,8 TAVYE VGG, DI EGAOT ToBSey.

Options :
400 K and 0.01 bar

400 K 208cio 0.01 bar

100 K and 0.01 bar
100 K 2068ac30 0.01 bar

400 K and 1 bar

400 K 20o8c3w 1 bar

100 K and 1 bar
100 K 2080320 1 bar
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Question Number : 128 Question Id : 4387198448 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match List Iwith List II

List I List IT
(Medium) (equivalent weight of KMnQOy)
A, Acidic medium (1) 158.0
B. Neutral medium (11) 31.6
C. Strongly basic medium (111) 52.7

DT I D ardore II & 2aHEota0.

Do -1 Do — 11
(oSoraga80) (KMnOy efeoe.:r“?scs e Go)
A 85200 Q3T (1) 158.0
B. EEJTEJ} QAT S0 (ii) 316
C. 20208 06 03RS0 (1) 52.7
Options :
1%;—*sk—""'“i: B—» 11: C—» i1
A— " i B—* iii : ¢—™i
2.
3 % A0y B—» 11 : C—» 11
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e A—>ii; B—*i; C—>ii

Question Number : 129 Question Id : 4387198449 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

1 L of CHy(g) and 2 L of Cl; reacts to give HCI (g) and CClyat STP. If 50% of CH,
1s reacted. what will be the total volume of reaction mixture at the same temperature
and pressure.

STP ¢ 1 L CHa(g) 208ci» 2 L Cl; (g) w0 ©¥¢{Sed HCI (g) wdasw CCL(I) ©
Qo0 98 -r.%g;jw DET O S8 50% CHy w0 SobHS el QS 2o
D0DD0ST 0 odh?

Options :
| x 1OL

Question Number : 130 Question Id : 4387198450 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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A.G of a reaction A+B = C+D at a fixed -183.14

concentration of C is plotted as a function of il 2
temperature. Calculate the A,.G%f the reaction in A G
kJ/mol. (k J/mol) \\

* <
28 208,08 s C 5¢. A+B = CHD &3¢ cing),  — 100 v

ol o
A,G Q&I 0D Dot Td HI . 86 4,6° D
(k/mol ©&5°) &8 otsodt. 200 300
T(K)
_ »

4 % +349

Question Number : 131 Question Id : 4387198451 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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115/140



7/12/22, 8:43 PM

At 300K and constant pressure, the follwing data i1s obtamned for the reaction.
AM(5)+305(g) —» 2M->05(s).

A,H®=-1548 kJ mol

AS,,, =-350 T K" mol”

What is the value of AS.,, in J K mol!?

300K S08asw 6 DEDo 56, AM(s)+302(g) —>2Mr05(s). WO Sod ST o%o
LDoWod.

A H° =-1548 kJ mol™
AS.y,=-550 T K mol™

AS.uer in T K mol™ & e5° doch?
Options :
, TA644x 10°

) @ +5160

| -A644

L % -3160

Question Number : 132 Question Id : 4387198452 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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For the reaction CaCO,(5) = CaO(s5)+CO,(g). complete conversion of CaCO; can

be achieved by
CaCOy(s) = CaO(s)+ COy(g) . 56§&° CaCO; D 3P0 2583C MDocsdered

Options :

Loading more amount of CaCO;

SEUR) Ao’ CaC0s D godrd
1. ®

Removing CO, continuously

e98)G¥or™ (continuously) CO; D Sohetrd.
2.

Increasing Pressure

Enr:.‘iaﬂilcl Dotd
3. %

Increasing temperature

e Dotrd
4.% %

Question Number : 133 Question Id : 4387198453 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Statement (A):- Addition of an inert gas to the system at equilibrium at constant
volume does not affect equulibrium.

Statement (B): - Addition of a catalyst does not affect the position of equilibrinm
Choose the correct option.

SRR (A) - Darm 2O HG WD) w8 D[HV D0 DDHBATI0 DS »E
7 ] = a0 ! ]

T 030 003 v DB DDA VO

To(@] (B) - 30570y s8538 2T 2. 1S Do JEW.

DO DDA A0y Eed.

Options :
Both statements are wrong.

Sotir Tr{a(en BT ST

Both statements are correct.
Totir arfan{en RBGRD.
2.
Statement A 1s correct. but B 1s wrong.
(0] A ROILIG 57 7] B 28GLIS 5760
3. %
Statement A is wrong but B is correct.

T°(30) A ROIDIE 57 57 T B 2OGLIG.
4. %

Question Number : 134 Question Id : 4387198454 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Which of the following statement is correct about the isotopes of hvdrogen?

TEBD DTE'D 08 VoroBod Sobd T HS” DG VOB 7857

Options :

Internuclear distance in hydrogen and deuterium is same

| 9080 So@s Girde TESD. dyiboie 0B” LT,
Enthalpy of bond dissociation of deuterium is less than hydrogen.
2206 AT Jogrdy TEED ST cogeidabo L S8y D.

Order of relative abundance of isotopesis H=T =D

- DTV FDE 2B gWe H>T>D

Ratio of neutrons to protons is greater for D than T.

L w RAT(erS e, Jerd 0 3 T 577y D £ s 5.

Question Number : 135 Question Id : 4387198455 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The hydrated metal ion that has the largest size is
98 DG DB (U TFESE &' a3 BT

Options :
1. % Na’

) % Cs’

3. LiT

119/140



7/12/22, 8:43 PM

4. % K

Question Number : 136 Question Id : 4387198456 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the tollowing

List — I (Metal)

() Li
(m K
() Na
(IV) Cs

Sofd T 2 DOt

9% -1 (S Tam)

() Li
() K

(II) Na
(IV) Cs

Options :

I-B;: II-A: II-D:

1. ®

[-A: II-B: II-C:
®

IV-C

IV-D

List — IT (Colour of Flame)

A) Yellow

B) Crimson Red
C) Blue
D) Violet

F'

E}g —II (2g® Got)
A) DD
B)  Som D)
C) DY

D) & Corbd
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=B I=FE)"

3.¢

I—-C; II-D:

Question Number : 137 Question Id : 4387198457 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of s. p and d-electrons present in gallinm 1s respectively

made Jorwse Dot (L s, p. d- VTR VoD SERT

Options :
8. 10, 13

Question Number : 138 Question Id : 4387198458 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

IM-A: IV-C

m-A: IV-B

121/140



7/12/22, 8:43 PM

Assertion (A) : Carbon can form pm — pm bonds with itself and with other small
sized and high electronegative atoms.

Reason (R) : Other heavier elements of group 14 can also form pmr — pm bonds.

AIydo (A) : 556y SOE Sradd s oy DBATEI0. BHS O 5}5335@@&5@ (a5}

QBC DOATEDVE ETC° PIT — PIT LIOTTVRD DBERVA.

sedeao (R) : 470 14 2O God /96 270 D0TUSTe) S0 PH — P oL/

E)dgd}@*‘cm

Options :

Both (A) and (R) are correct and R is the correct explanation of A

o (A) (R) &0 Boh> 20a3, (A) £ (R) 08qo D56es

Both (A) and (R) are correct. but R 1s not the correct explanation of A
- (A), (R) e Tocd 2BCAD 572 (A) £ (R) 2803 DdHdes 5°¢w

(A) is correct but (R) is not correct

s (A) 28O 570 (R) 2OTDIG s

{(A) 1s incorrect but (R) is correct
4 % (A) PO0LAG TP T (R) PBCLAE

Question Number : 139 Question Id : 4387198459 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The number of m and ¢ bonds present in Benzonitrile respectively are

Qo DOS Do 71, 0 - LotrL Ro[eD SEXRT

Options :

5. 10
1. ®

2.

Question Number : 140 Question Id : 4387198460 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the major product ‘Q’ in the following reaction.
_CH(Br)CH,Br

il

S

(i) KOH (alcohol )/

:

(i) NaNHy/ Lig. NHs, 196 K
(i) HgSOy/ dil HySOy

206 BO{E° DD B DY 0 ‘Q’ & ABoIBW.

©/CH{Br}CH2EFr

Options :

(i) KOH (eepes)) 4

:

(i) NaNH,/ |85 NH3, 196 K
(i) HgSO4/ DEEH,S0;4
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L [ CHs
2.
0
r’f’f “‘U)L "CH4Br
3.8 o
Br
Z 5" CHO
4, % L“" |

Question Number : 141 Question Id : 4387198461 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Match list T with list II
List I (Crystal System)
A, Cubic

B. Monoclinic

C. Tetragonal

D. Triclinic

2o I (-;a:]ej‘ias S{9R)

AL DoR
B. 2g dzg
C. 5o Fok
D. 838
Options :
A B L
Lw IV 1 II

A B &
,v IV I 0

A B C
3o« IV IV

A B &
g I O IV

Question Number : 142 Question Id : 4387198462 Display Question Number : Yes Is Question Mandatory : No Calculator : None

111

—

=

—

List IT (Cell parameters)

I) atb#c. &+ f # y # 90°

IT) a=b#c. x= f = y = 90°

IT) a#b#c. x=y = 90°, B = 90°
IV) a=b=c. x=f =y = 90°

V) a=b#c. x= f = 90°% y = 120°
erdor 11 (030, 25 Do)

I) atb#c. = f = y + 90°

IT) a=b#c. k= B = y = 90°

ITI) a#b#c. x= y = 90°, B = 90°
IV) a=b=c. x= f =y = 90"

V) a=b#e. x= f = 90°. y = 120°



7/12/22, 8:43 PM
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ratio of edge lengths (fcc lattice) of Cu solid and Ag solid 1s 9:10. What is the
ratio of their densities? (Mg, = 108 g mol™!; M, = 63.5 g mol™)

208 Cu HBciw 205 Ag o ooty e (feo rosw) © Ddnyd 9:10. o€
Fodde NG dod? (My, = 108 g mol™*; Mg, = 63.5 gmol ™)

Options :

1.¢ (.2

s % 06

4 % 09

Question Number : 143 Question Id : 4387198463 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement 1s not correct?
ol TS A PBIVD Tjad] ST

Options :
Vapour pressure increases with decrease is polarity of the solvent
, Todd SDIVB BRGOE ey DEDe DEMBIE.

Vapour pressure increases with imcrease in temperature
&8 DOMRVE e DEDC DEDBS.
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Solvent with high boiling point has higher vapour pressure

| 0B P BOD TR0 0 Tods oo EE DD G008,

Heavier solvents of same polarity have a lower vapour pressure
RITD GDTOB (50 LTBORVS BT R TEDEDR § eotrow.

Question Number : 144 Question Id : 4387198464 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

At T (K). the molarity of 34% (w/w) NH; solution (in mol L") of density 0.9 g mL™
15

T (K) 3¢ Jro@e 0.9 g mL™ o 34% (w/w) NH; grdese 2000786 (mol L 0e°)
Options :
12
14

16

18
4.

Question Number : 145 Question Id : 4387198465 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The cell potential. E..y the following cell notation (1in Volts) is
A(s) AT (aq, 0.1M)||B** (ag, 0.01M)|B(s)
Egv;q=1Vand Efas/p =3V

Sob 08 VoFTIS, 208 TEJaE E 2vto (V o)

A(20) |AT (220, 0.1M) || B2 (2, 0.01M)| B ()
Egv;q=1Vand Efas/p =3V
Options :

| x LO

2%3.{]

;
30 20

4% 2

Question Number : 146 Question Id : 4387198466 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a first order reaction. the reactant decomposes 25% of its initial concentration at
40 minutes. What is the value of rate constant of the reaction?

(log3=10.4771. log 4 = 0.6021)

208 DA SAT08 11’)1:55?56 40 doIre 56 Sosradge. T BoBred &° 25% Ddirto

DoAY es WO uﬁU‘*ﬁToSo DN Doch?
(log 3 =0.4771, log 4 = 0.6021)
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Options :

7.19X10° min’’
1. v

2.19X107 min™
5.19X107 min™

1.19X107 min™

Question Number : 147 Question Id : 4387198467 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following is not an adsorbent?

o8 To3¢5° DA AT NS0 S°E?
Options :
Silica gel
% s TS
Alumina
9 T
2. % i
Clay
3 % E-JGS:)JQE
Calcium Chloride
sHaobho §6&
4. ~ & s
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Question Number : 148 Question Id : 4387198468 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A) : - Colloidal particles pass through ordinary filter paper.
Reasons (R):- Ultra filtration i1s a slow process
D3yBo (A) : Fyrané geren Foon S6TS 57Hde oo(s Jreocaw.

seo00 (R) : Qg oo D20 BT 200 DSb.

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A).
A 20bodiw R e Codd mgmab ~0dain A 2 R 2000 S4belalr)

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A).
- A 080300 R 20 Sodd R000AD 57 A S0 R 20007 D506 5°6.
(A) 1s correct but (R) is incorrect
A 2D0o0AG 57 R 20000 & 524,

(A) 1s mcorrect but (R) is correct

L% A D0oAG 576 57 R 20008,

Question Number : 149 Question Id : 4387198469 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

I - 1 cth
The common oxidation states of elements of 157 group elements are

15 3 6,0 Aorustey JTEoes HEJSOE‘;\ DB DD?

Options :
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=3. 43,45
1.V
-3, +2, +5
2. %
=1, 4+3.+5
3.
23 43, ES
4. %

Question Number : 150 Question Id : 4387198470 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The bond length and the bond angle of Sg ring of rhombic sulphur are
T7o2$ DG Sg-Deaive WS, moﬁgg%m 208050 e106E s DD?
Options :

104 pm. 107°

1. ®
204 pm, 107°
304 pm. 107°

194 pm, 120°

Question Number : 151 Question Id : 4387198471 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The element that has completely filled d-orbitals in its atomic and “+1" oxidation
state 1s

DB DS 2B0IW +1 8186 DBS” QPO Jodd d — BBYEFS o &)
Sarego D67

Options :

1%(30

Question Number : 152 Question Id : 4387198472 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In complex CrCl;.6H>O. the correct primary valency. secondary valency. and
coordination number are respectively as x. y. and z. What are x. v. and 2?7

CrCl3.6H,0 20033°08 Dotrodod) Cr dB0E); P08 DT, 28ecd 2SIy, Sudosw
[SE=ELVNes Y ::.Loa:.ng DA SEOATT X. V. B0 z © B ATV d). X. ¥, 0000 z e

DT
Options :
X=6 v=6 3
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X=6 y=3 =6

2. %

3.\_/,35:—3,—6 z=6
- Xx=3 vV=6 =4

4. % -

Question Number : 153 Question Id : 4387198473 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Rhammnose. a carbohydrate has the formula

Options :
Cs Hi1205

1. %

) Cs H120s5

G Hy O

3. %

4 % C5H1Os

Question Number : 154 Question Id : 4387198474 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

133/140



7/12/22, 8:43 PM

Which among the following are peptide based hormones?
(1) Estrogen (1) Insulin  (i11) Endorphin  (1v) Androgen
Bod =8S° LD BRE wrrs $B58e ?

(1) @28 (1) =95 (1) 208%55  (1V) Joig®=S

Options :
(1) and (1v)

(i) Soecto (iv)

(11) and (i11)

(ii) so8atn (i11)
2.

(1) and (i11)

(1) Sobass (111)
3. %

(11) and (1v)

(if) S6ck (iv)
4, %

Question Number : 155 Question Id : 4387198475 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following has the strongest C—X bond?
Bob &S LB w868 oo C-X nopwd) 59A aotooh?

Options :
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H,C-Cl

) % H;C-1

, v HCF

4« H:CBr

Question Number : 156 Question Id : 4387198476 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The major product formed from the following is
/f\rf’ (i) Mg/Ether

gr (i) CH30OH
1Bob O’ WG |Hers (Bdireiio AT

/\r” (i) Mg/ &8
i) CHzOH

gr ()
Options :
1.¥ 2T

OH
2 MJ\/”
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Question Number : 157 Question Id : 4387198477 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the major product for the reaction given below

OH
J;K (i) Bry/ CHCls, 273K
C -
- (ii) Na/ dry ether
Socd MOLRICLR nﬁd}geﬁ“ﬁ:} DTS Sair 2310 dotdoct,
OH
S (i) Bry/ CHCla, 273K
| - - 7
i (i) Na/ o= (8 &85
Options :
7N o
- HO o N/ OH
—
7\ !-‘}M
{ 0O
2. % \\:/_
OH
r
<, N,
—/ /)
3. % HO

7N g
4. % <—e"€ \\ fjf/
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Question Number : 158 Question Id : 4387198478 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the major product formed from the following reaction
Sod :ﬁ{:ﬁéﬁﬁ D& DER Soura 7)) (otsect.

: O (i) Ba(OH),

() /s

Options :

.rD |
II

\_<

- \li
2. % =

Naes
o

Question Number : 159 Question Id : 4387198479 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Assertion (A) : The carboxylic carbon 1s more electrophilic than carbonyl carbon

Reasons (R) : All the bonds attached to carboxvlic carbon lie in one plane

DIySo(A) : E‘“&ﬁaé?j SCASES S Wgéﬁ«l@)é SCASEY aﬂgbﬁ}é ReTd0 Q8D

sedeao (R) : ?Taégﬁé SRONS & &) 8 omred 8 Bwot’ GotTaw.

Options :
Both A & R are true and R 1s correct explanation

L% A 25080300 R 20 Godd 2B Subodn AsSy R R38R D566

Both A & R are correct but R is not the correct explanation for A

5w A 080k R e 8ot BP0 57 A £ R 23R J56m 5760

A 15 correct. R 1s wrong

A 2058 52 R 2038 5560

A 1s wrong. R 1s corrent

4 » ARDRB T IR 0320

Question Number : 160 Question Id : 4387198480 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Identify the major product
@ () Conc HNO5 + Conc H;50y) (323-333 K)

-
(i) Cly / AICK (iii) Hy/Pd-C
od ﬁmégéocej’ﬁﬁ 2D SairaT(dy Mool
s (i) T HNO; + e H,S0,) (323-333 K)
» -
(ii) Cl / AICI (iii) Hy/Pd-C
Options :
NH;
i,

L e

2. ® Cl
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